CONSTRUCTION OF THE PAVING AND APPURTENANCES TO SERVE ARTAVIA® SECTION 27 MONTGOMERY COUNTY MUNICIPAL UTILITY DISTRICT NO. 111 CITY OF CONROE E.T.J., MONTGOMERY COUNTY, TEXAS MAY 21, 2024 LJA ENGINEERING, INC.

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.

LJA ENGINEERING, IN L. MARTINEZ MAY 21, 2024 1968-14027 (9.2)

TOTAL AMOUNT BID

BIDDER'S NAME

1) HARRIS CONSTRUCTION COMPANY, LLC	\$1,290,069.96
2) DACO PAVING, INC.	\$1,313,000.00
3) PRECISE SERVICES, INC.	\$1,329,534.60
4) PRINCIPAL PAVING CONTRACTORS, LTD.	\$1,439,376.00
5) ICON GC, LLC	\$1,468,000.00
6) D&J CONSTRUCTION, INC.	\$1,469,401.00

CALENDAR DAYS 90/100

PRESLEY A. LUNDQUIST

3. 149753

C. CENSE NO

I, Presley A. Lundquist, PE, hereby contify these bid tabulations to be true and correct.

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LJA JOB NO.

CONSTRUCTION OF THE PAVING AND APPURTENANCES TO SERVE ARTAVIA® SECTION 27 MONTGOMERY COUNTY MUNICIPAL UTILITY DISTRICT NO. 111 CITY OF CONROE E.T.J., MONTGOMERY COUNTY, TEXAS MAY 21, 2024 LJA ENGINEERING, INC.

L. MARTINEZ MAY 21, 2024 1968-14027 (9.2)

			1) HARRIS CONSTRUCTI	ION COMPANY, LLC	2) DACO PAV	ING, INC.	3) PRECISE SER	VICES, INC.
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
MONTGOMERY	COUNTY M.U.D. NO. 111 PAVING ITEMS								
1 ROADWA' IN PLACE	Y, ROW, AND LOT EXCAVATION, INCLUDES FINAL GRADING, COMPLETE	CY	58068	\$1.50	\$87,102.00	\$3.40	\$197,431.20	\$2.40	\$139,363.20
MATERIAL ELSEWHE COMPACI	Y, ROW, AND LOT EMBANKMENT, INCLUDES REMOVAL OF UNSUITABLE L BEFORE PLACING FILL, DEMUCKING OF EXISTING DITCH OR SERE AS NEEDED, STRIPPINGS, PROOF ROLLING, PLACEMENT AND TION TO 95% STANDARD PROCTOR DENSITY, REAPPLICATION OF GS, AND FINAL GRADING, COMPLETE IN PLACE	CY	58068	\$1.50	\$87,102.00	\$1.75	\$101,619.00	\$2.40	\$139,363.20
	DRCED CONCRETE PAVEMENT, MIN. 3,000 PSI COMPRESSIVE TH AND 5 SACKS CEMENT PER CUBIC YARD OF MIX, COMPLETE IN	SY	15283	\$52.45	\$801,593.35	\$47.00	\$718,301.00	\$45.00	\$687,735.00
	IZED LIME/FLY-ASH SUB-GRADE (MANIPULATION), INCLUDES TION TO 95% MODIFIED PROCTOR DENSITY, COMPLETE IN PLACE	SY	17286	\$2.70	\$46,672.20	\$3.25	\$56,179.50	\$4.20	\$72,601.20
	ED LIME FOR STABILIZED SUB-GRADE (16 LB/SY), AS REQUIRED BY SOIL DNS AND APPROVED BY GEOTECHNICAL ENGINEER, COMPLETE IN	TON	138	\$445.33	\$61,455.54	\$355.00	\$48,990.00	\$340.00	\$46,920.00
	FOR STABILIZED SUB-GRADE, (42 LB/SY), AS REQUIRED BY SOIL DNS AND APPROVED BY ENGINEER, COMPLETE IN PLACE	TON	363	\$160.00	\$58,080.00	\$145.00	\$52,635.00	\$135.00	\$49,005.00
	T PROPOSED 6" REINFORCED CONCRETE PAVEMENT TO EXISTING 7" CED CONCRETE PAVEMENT, COMPLETE IN PLACE	LF	51	\$17.33	\$883.83	\$6.50	\$331.50	\$30.00	\$1,530.00
8 PROPOSE	ED PAVING HEADER, COMPLETE IN PLACE	LF	28	\$17.33	\$485.24	\$17.00	\$476.00	\$15.00	\$420.00
9 6" REINFO	DRCED CONCRETE CURB, COMPLETE IN PLACE	LF	2866	\$4.00	\$11,464.00	\$4.00	\$11,464.00	\$4.00	\$11,464.00
10 4" X 12" RI	EINFORCED CONCRETE CURB, COMPLETE IN PLACE	LF	6230	\$4.00	\$24,920.00	\$4.00	\$24,920.00	\$4.00	\$24,920.00
	ONCRETE CURB RAMP PER DETAIL, INCLUDES TRUNCATED DOME COMPLETE IN PLACE	EA	12	\$1,566.67	\$18,800.04	\$1,450.00	\$17,400.00	\$1,500.00	\$18,000.00
12 INSTALL T	TYPE III BARRICADE, COMPLETE IN PLACE	EA	1	\$1,600.00	\$1,600.00	\$1,350.00	\$1,350.00	\$1,300.00	\$1,300.00
13 REMOVAL IN PLACE	AND OFFSITE DISPOSAL OF EXISTING TYPE III BARRICADE, COMPLETE	EA	2	\$200.00	\$400.00	\$1.00	\$2.00	\$100.00	\$200.00
BOTTOM	JCT DRAINAGE SWALE PER DETAIL ON SHEETS 10 & 11, VARIOUS WIDTHS, 3:1 SIDE SLOPES, DEPTH VARIES, INCLUDES HAUL, PLACE IPACT IN FILL AREAS AS NECESSARY, COMPLETE IN PLACE	LF	6585	\$4.00	\$26,340.00	\$4.50	\$29,632.50	\$10.00	\$65,850.00
	E EXISTING BACKSLOPE SWALE TO PROPOSED GRADES, DEPTH COMPLETE IN PLACE	LF	1215	\$4.00	\$4,860.00	\$3.20	\$3,888.00	\$9.00	\$10,935.00
ROLLING,	JCTION OF REAR LOT BERMS, INCLUDING STRIPPING AND PROOF HAULING, PLACEMENT AND COMPACTION OF MATERIALS, AND MENT OF STRIPPINGS, COMPLETE IN PLACE	LS	1	\$6,666.67	\$6,666.67	\$2,100.00	\$2,100.00	\$21,500.00	\$21,500.00
	ENT TRAFFIC CONTROL DEVICES, (INCLUDING ALL TRAFFIC BUTTONS, IT STRIPING, STREET SIGNS AND TRAFFIC SIGNS); COMPLETE IN	LS	1	\$17,460.00	\$17,460.00	\$18,157.30	\$18,157.30	\$17,000.00	\$17,000.00
MONTGOMERY	COUNTY M.U.D. NO. 111 PAVING ITEMS SUBTOTAL:				\$1,255,884.87		\$1,284,877.00		\$1,308,106.60

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LJA JOB NO.

CONSTRUCTION OF THE PAVING AND APPURTENANCES TO SERVE ARTAVIA® SECTION 27

MONTGOMERY COUNTY MUNICIPAL UTILITY DISTRICT NO. 111 CITY OF CONROE E.T.J., MONTGOMERY COUNTY, TEXAS

MAY 21, 2024

LJA ENGINEERING, INC.

L. MARTINEZ MAY 21, 2024 1968-14027 (9.2)

				1) HARRIS CONSTRUCTION COMPANY, LLC		2) DACO PAVING, INC.		3) PRECISE SERVICES, INC.	
ITEM DESC	RIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
MONTGOMERY COUNTY M.U.D. NO. 111 MISCELLANEOUS ITEMS									
BLUE DOUBLE REFLECTORIZED BUTTON HYDRANT, COMPLETE IN PLACE	NS LOCATED ACROSS FROM FIRE	EA	9	\$21.33	\$191.97	\$17.00	\$153.00	\$22.00	\$198.00
2 6" PVC SLEEVES, SCHEDULE 40, UNDER SHEET 3, COMPLETE IN PLACE	R PROPOSED PAVEMENT, PER DETAIL ON	LF	64	\$73.33	\$4,693.12	\$60.00	\$3,840.00	\$45.00	\$2,880.00
3 FURNISH PERFORMANCE AND PAYMENT COMPLETE IN PLACE	T BONDS PER CONTRACT DOCUMENTS,	LS	1	\$20,000.00	\$20,000.00	\$13,000.00	\$13,000.00	\$15,500.00	\$15,500.00
4 MAINTAIN, REMOVE AND DISPOSE OFFS CONSTRUCTION EXIT, COMPLETE IN PLA		EA	1	\$2,000.00	\$2,000.00	\$1,500.00	\$1,500.00	\$500.00	\$500.00
5 TEMPORARY TRAFFIC CONTROL DEVICE PLASTIC DRUMS AND BARRICADES, FLA COMPLETE STREET TIE-IN IN TXDOT RIG DIRECTION OF THE ENGINEER), COMPLE	AGMEN, ETC. AS NECESSARY TO GHT-OF-WAY (TO BE USED ONLY AT THE	LS	1	\$4,500.00	\$4,500.00	\$750.00	\$750.00	\$500.00	\$500.00
6 STORMWATER POLLUTION INSPECTION BASIS ACCORDING TO TCEQ PERMIT, CO		LS	1	\$1,600.00	\$1,600.00	\$8,000.00	\$8,000.00	\$1,000.00	\$1,000.00
7 EXTRA SIGN (TO BE USED ONLY AT THE COMPLETE IN PLACE	E DIRECTION OF THE ENGINEER),	EA	1	\$1,200.00	\$1,200.00	\$880.00	\$880.00	\$850.00	\$850.00
MONTGOMERY COUNTY M.U.D. NO. 111 MISCE	ELLANEOUS ITEMS SUBTOTAL:				\$34,185.09	*	\$28,123.00		\$21,428.00
BIDDING SUMMARY									
SUBTOTAL MONTGOMERY COUNTY M.U.D. NO). 111 PAVING ITEMS				\$1,255,884.87		\$1,284,877.00		\$1,308,106.60
SUBTOTAL MONTGOMERY COUNTY M.U.D. NO). 111 MISCELLANEOUS ITEMS				\$34,185.09		\$28,123.00		\$21,428.00
TOTAL AMOUNT BASE BID					\$1,290,069.96		\$1,313,000.00		\$1,329,534.60

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LJA JOB NO.

CONSTRUCTION OF THE PAVING AND APPURTENANCES TO SERVE ARTAVIA® SECTION 27 MONTGOMERY COUNTY MUNICIPAL UTILITY DISTRICT NO. 111 CITY OF CONROE E.T.J., MONTGOMERY COUNTY, TEXAS MAY 21, 2024 LJA ENGINEERING, INC.

MAY 21, 2024 LJA ENGINEERING L. MARTINEZ MAY 21, 2024 1968-14027 (9.2)

20,1002,100.			00 11021 (0.2)					
		4)	4) PRINCIPAL PAVING CONTRACTORS, LTD. 5) ICON GC, LLC		iC, LLC	6) D&J CONSTRUCTION, INC.		
ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
MONTGOMERY COUNTY M.U.D. NO. 111 PAVING ITEMS								
1 ROADWAY, ROW, AND LOT EXCAVATION, INCLUDES FINAL GRADING, COMPLETE IN PLACE	CY	58068	\$3.00	\$174,204.00	\$4.00	\$232,272.00	\$2.50	\$145,170.00
2 ROADWAY, ROW, AND LOT EMBANKMENT, INCLUDES REMOVAL OF UNSUITABLE MATERIAL BEFORE PLACING FILL, DEMUCKING OF EXISTING DITCH OR ELSEWHERE AS NEEDED, STRIPPINGS, PROOF ROLLING, PLACEMENT AND COMPACTION TO 95% STANDARD PROCTOR DENSITY, REAPPLICATION OF STRIPPINGS, AND FINAL GRADING, COMPLETE IN PLACE	CY	58068	\$2.00	\$116,136.00	\$2.85	\$165,493.80	\$5.00	\$290,340.00
3 6" REINFORCED CONCRETE PAVEMENT, MIN. 3,000 PSI COMPRESSIVE STRENGTH AND 5 SACKS CEMENT PER CUBIC YARD OF MIX, COMPLETE IN PLACE	SY	15283	\$52.00	\$794,716.00	\$46.50	\$710,659.50	\$47.00	\$718,301.00
4 6° STABILIZED LIME/FLY-ASH SUB-GRADE (MANIPULATION), INCLUDES COMPACTION TO 95% MODIFIED PROCTOR DENSITY, COMPLETE IN PLACE	SY	17286	\$4.00	\$69,144.00	\$4.25	\$73,465.50	\$3.50	\$60,501.00
5 HYDRATED LIME FOR STABILIZED SUB-GRADE (16 LB/SY), AS REQUIRED BY SOIL CONDITIONS AND APPROVED BY GEOTECHNICAL ENGINEER, COMPLETE IN PLACE	TON	138	\$340.00	\$46,920.00	\$355.00	\$48,990.00	\$348.00	\$48,024.00
6 FLY ASH FOR STABILIZED SUB-GRADE, (42 LB/SY), AS REQUIRED BY SOIL CONDITIONS AND APPROVED BY ENGINEER, COMPLETE IN PLACE	TON	363	\$140.00	\$50,820.00	\$139.00	\$50,457.00	\$135.00	\$49,005.00
7 CONNECT PROPOSED 6" REINFORCED CONCRETE PAVEMENT TO EXISTING 7" REINFORCED CONCRETE PAVEMENT, COMPLETE IN PLACE	LF	51	\$20.00	\$1,020.00	\$35.00	\$1,785.00	\$20.00	\$1,020.00
8 PROPOSED PAVING HEADER, COMPLETE IN PLACE	LF	28	\$15.00	\$420.00	\$22.00	\$616.00	\$20.00	\$560.00
9 6" REINFORCED CONCRETE CURB, COMPLETE IN PLACE	LF	2866	\$3.50	\$10,031.00	\$4.00	\$11,464.00	\$3.75	\$10,747.50
10 4" X 12" REINFORCED CONCRETE CURB, COMPLETE IN PLACE	LF	6230	\$3.50	\$21,805.00	\$4.00	\$24,920.00	\$3.75	\$23,362.50
11 TYPE 7 CONCRETE CURB RAMP PER DETAIL, INCLUDES TRUNCATED DOME PAVERS, COMPLETE IN PLACE	EA	12	\$1,500.00	\$18,000.00	\$1,400.00	\$16,800.00	\$1,400.00	\$16,800.00
12 INSTALL TYPE III BARRICADE, COMPLETE IN PLACE	EA	1	\$1,000.00	\$1,000.00	\$1,200.00	\$1,200.00	\$1,400.00	\$1,400.00
13 REMOVAL AND OFFSITE DISPOSAL OF EXISTING TYPE III BARRICADE, COMPLETE IN PLACE	EA	2	\$50.00	\$100.00	\$20.00	\$40.00	\$200.00	\$400.00
14 CONSTRUCT DRAINAGE SWALE PER DETAIL ON SHEETS 10 & 11, VARIOUS BOTTOM WIDTHS, 3:1 SIDE SLOPES, DEPTH VARIES, INCLUDES HAUL, PLACE AND COMPACT IN FILL AREAS AS NECESSARY, COMPLETE IN PLACE	LF	6585	\$5.00	\$32,925.00	\$7.25	\$47,741.25	\$5.00	\$32,925.00
15 REGRADE EXISTING BACKSLOPE SWALE TO PROPOSED GRADES, DEPTH VARIES, COMPLETE IN PLACE	LF	1215	\$5.00	\$6,075.00	\$13.50	\$16,402.50	\$10.00	\$12,150.00
16 CONSTRUCTION OF REAR LOT BERMS, INCLUDING STRIPPING AND PROOF ROLLING, HAULING, PLACEMENT AND COMPACTION OF MATERIALS, AND REPLACEMENT OF STRIPPINGS, COMPLETE IN PLACE	LS	1	\$10,000.00	\$10,000.00	\$32,000.00	\$32,000.00	\$20,000.00	\$20,000.00
17 PERMANENT TRAFFIC CONTROL DEVICES, (INCLUDING ALL TRAFFIC BUTTONS, PAVEMENT STRIPING, STREET SIGNS AND TRAFFIC SIGNS), COMPLETE IN PLACE	LS	1	\$10,000.00	\$10,000.00	\$7,500.00	\$7,500.00	\$16,000.00	\$16,000.00
MONTGOMERY COUNTY M.U.D. NO. 111 PAVING ITEMS SUBTOTAL:				\$1,363,316.00		\$1,441,806.55		\$1,446,706.00

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.

TOTAL AMOUNT BASE BID

CONSTRUCTION OF THE PAVING AND APPURTENANCES TO SERVE ARTAVIA® SECTION 27 MONTGOMERY COUNTY MUNICIPAL UTILITY DISTRICT NO. 111 CITY OF CONROE E.T.J., MONTGOMERY COUNTY, TEXAS

\$1,439,376.00

\$1,468,000.00

\$1,469,401.00

MAY 21, 2024

LJA ENGINEERING, INC. L. MARTINEZ

MAY 21, 2024 1968-14027 (9.2)

				4) PRINCIPAL PAVING C	CONTRACTORS, LTD.	5) ICON (SC, LLC	6) D&J CONSTR	UCTION, INC.	
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	
MONTGOMERY COUNTY M.U.D. NO. 111 MISCELLANEOUS ITEMS										
	UBLE REFLECTORIZED BUTTONS LOCATED ACROSS FROM FIRE T, COMPLETE IN PLACE	EA	9	\$10.00	\$90.00	\$20.00	\$180.00	\$15.00	\$135.00	
	LEEVES, SCHEDULE 40, UNDER PROPOSED PAVEMENT, PER DETAIL ON , COMPLETE IN PLACE	LF	64	\$40.00	\$2,560.00	\$28.00	\$1,792.00	\$40.00	\$2,560.00	
	PERFORMANCE AND PAYMENT BONDS PER CONTRACT DOCUMENTS, TE IN PLACE	LS	1	\$61,760.00	\$61,760.00	\$20,671.45	\$20,671.45	\$14,000.00	\$14,000.00	
	N, REMOVE AND DISPOSE OFFSITE OF EXISTING STABLIZED UCTION EXIT, COMPLETE IN PLACE	EA	1	\$2,500.00	\$2,500.00	\$150.00	\$150.00	\$2,000.00	\$2,000.00	
PLASTIC COMPLE	ARY TRAFFIC CONTROL DEVICES, INCLUDING ALL SIGNS, STRIPING, DRUMS AND BARRICADES, FLAGMEN, ETC. AS NECESSARY TO TE STREET TIE-IN IN TXDOT RIGHT-OF-WAY (TO BE USED ONLY AT THE ON OF THE ENGINEER), COMPLETE IN PLACE	LS	1	\$7,500.00	\$7,500.00	\$2,000.00	\$2,000.00	\$1,500.00	\$1,500.00	
	/ATER POLLUTION INSPECTION REPORTS CONDUCTED ON A WEEKLY CORDING TO TCEQ PERMIT, COMPLETE IN PLACE	LS	1	\$1,000.00	\$1,000.00	\$850.00	\$850.00	\$1,500.00	\$1,500.00	
	IGN (TO BE USED ONLY AT THE DIRECTION OF THE ENGINEER), TE IN PLACE	EA	1	\$650.00	\$650.00	\$550.00	\$550.00	\$1,000.00	\$1,000.00	
MONTGOMERY	COUNTY M.U.D. NO. 111 MISCELLANEOUS ITEMS SUBTOTAL:				\$76,060.00	•	\$26,193.45		\$22,695.00	
BIDDING SUMM	<u>ARY</u>									
SUBTOTAL MOI	NTGOMERY COUNTY M.U.D. NO. 111 PAVING ITEMS				\$1,363,316.00		\$1,441,806.55		\$1,446,706.00	
SUBTOTAL MOI	NTGOMERY COUNTY M.U.D. NO. 111 MISCELLANEOUS ITEMS				\$76,060.00		\$26,193.45		\$22,695.00	